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G�Tb��� �

�HM!����H�T��$����T���$��Q"���T�!&�������
��$��T���$��Q"���T�!&�����

1. ����H�T��$����H��R�g�� (AOAC,1990)
�����9!

1. ����6� (muffle fumace)
2. G��7��)�=�"���;���= (porcelain crucible)
3. �G� �;���
�"� (desicator)
4. �;��A��

A�8PP��
�2� 4 �#����%�

�24&���
1. �6�G��7��)�=�"���;���=	�����6�'&A��9�1 �2 600 �����K��K&7� ��$�����

��)��9 3 

A���� �}���2'K!����6�����)��9 30 � 45 ��'& �*�A�	����9�1 �2����6������%�� 
�����#�����������6�	�%	��G� �;���
�"� ��%�7	���7L���G@���9�1 �2��������

A��"#���
�

2. �6�K"#��&� ;�
"��)��)��9 30 ��'& ��)��)'#��
%�+�� 1 ��8��6��%��+���"#�
��
�'
"����;�
"��2��%��
�8�%��2� 1 � 3 �2��2��
�

3. 

A��
��7%��	��8���"#���
���%��� (��)��9 3 ��
�) 	�%	�G��7��)�=�"��K@A�'��=
�"#���
���%������� �#�8��6�	�� �;�
������;�
������@��+������6���9�1 �2 600 �����K��K&7� 
��)��)'#��
%���&7��
=+�� 1 � 2
���;#���9

��2��9�G�� (����!�KL��!) = �"#���
��
��7%����
��6� x 100
�"#���
��
��7%����2A����

2. ����H�T��$����H��RT������� (AOAC, 1990)
�����9!

1. 1�
�)�#���
=��;���
�"�
2. � ��=8PP�� (electric oven)
3. �G� �;���
�"� (desicator)
4. �;��A��

A�8PP��
�2� 4 �#����%�
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�24&���
1. �=1�
�)�#���
=��;���
�"�	�� ��=8PP��'&A��9�1 �2 105 �����K��K&7� ��� 

2 � 3 

A�����#�������� ��=	�%	��G� �;���
�"� ����)'
A���9�1 �2+��1�
�)������G@�
��9�1 �2��������

A��"#���
�

2. ��)'#��
%���&7��
=+�� 1 K"#� ��8��6��%��+���"#���
�'&A

A�'
"����;�
"��2��%��
�
8�%��2� 1 � 3 �2��2��
�

3. 

A��
��7%��	��8���"#���
�'&A��%��� 1 � 2 ��
� 	�%��	�1�
�)��;���
�"�K@A�
'��=�"#���
���%�������

4. �#�8��=	�� ��=8PP��'&A��9�1 �2 105 �����K��K&7� ��� 5 � 6 

A����
5. �#�������� ��=	�%	�1�
�)�G� �;���
�"� �
"�'2"�8��	���7L�����

A��"#���
�
6. �=K"#��&�;�
"���)��9 30 ��'& ��)��)'#��
%���2� ��8��6��%��+���"#���
�'&A



A�'
"����;�
"��2��%��
�8�%��2� 1 � 3 �2��2��
�
7. ;#���9����2��9;���
�"����� ��

���;#���9
��2��9;���
�"� (����!�KL��!)

   =  6��%��+���"#���
��
��7%���%���=��)��
��= x 100
   �"#���
��
��7%����2A����

3. ����H�T��$����H��Rm&��� (AOAC, 1990)
�����9!

1. �G� �;���
�"� (desicator)
2. � ��=8PP�� (electric oven)
3. �;��A��

A�8PP��
�2� 4 �#����%�

����;�&
����)��7;����P��!� (chloroform) : ��'4���� (methanol) �
����%�� 2 : 1

�24&���
1. �=G��7��
�8+�
� (cup) '&A�&� ����� 2 � 3 ��L� ��)�
��7%��'&A�)�2�;��)�!	�� �

�='&A��9�1 �2 100 �����K��K&7� �=�����������
"�'2"�	���7L�	��G� �;���
�"�
2. 

A��"#���
�G��7��
�8+�
�*����� �����	��8���"#���
�;�'&A (W1)
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3. 

A��
��7%��'&A��������2�;��)�!	�%��)������� ��)��9 1 � 2 ��
� (W2) �%�
	���2�
2�	�%��	�8������ (thimble) '&A���&7�8���#�8�	�%�+���;��A����
�8+�
�

4. �#�G��7��
�8+�
�*����� �����'&A

A�8��������2�����)��7;����P��!� :    ��'
4���� 25 �2��2�2�� ����	�%�+���;��A����
�8+�
�	����&7=���7

5. ��}��;��A����
�8+�
� ��
=��9�1 �28�'&A 160 �����K��K&7� ��}��"#��+���;��A��
��}����!� ���A����(�8�'&A boiling ���	������� 30 ��'&

6. ���A����(�8�'&A rinsing �*�A������
��7%�� 20 ��'&
7. �}����!� ��}���2'K!��������A����(�8�'&A evaporation �*�A�	������)��7���8� 

5 ��'&
8. �}��;��A�� �}��������)�"#� �������A����(� evaporation ��
='&A��2� �#�G��7��
�

8+�
��������;��A�����'2"�8��	���7L������#�8��='&A��9�1 �2 100 �����K��K&7� ������
9. �#�G��7��
�8+�
������	�%	��G� �;���
�"�'2"�8��	���7L������#���

A��"#���
� 

(W3)
���;#���9

8+�
� (����!�KL��!) =  (W3 � W1) x 100
                     W2

��7'&A W1 ;��  �"#���
�G��7��
�8+�
�*����� �����
                   W2 ;��  �"#���
��
��7%��
                     W3 ;��  �"#���
�G��7��
�8+�
�*����� �������)�
��7%����
�����=

1.4 ����H�T��$����H��R����!��
L�HM!���
�� (AOAC, 1990)
�����9!

1. ����7%�7�
��7%��
2. ������
A��
��7%��
3. �;��A�� Kjeltech K@A���)��=���7 �;��A��7%�7 �;��A����
A� ��)�;��A���
=8����
4. +��� �
�* % (erlenmeyer flask)
5. �;��A��

A�8PP��'��27� 4 �#����%�

����;�&
1. ���K
�P �2��+��+�� (sulfuric acid , H2 SO4) 93 � 98 ����!�KL��!
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2. �����%���� (catalyst muxture)  ���&7���7

A�;������!K
��P� 
(coppersulfate, CuSo4) 7 ��
� �
=���'��K&7�K
��P� (potassium sulfate, K2SO4) 100 ��
� 
6��	���+���
�

3. ����)��7�K��&7�8H����8K�! (sodium hydroxide, NaOH) 45 ����!�KL��! 
���&7���7�)��7�K��&7�8H����8K�! 450 ��
� 	��"#���
A� ��
=��2����	��8�� 1 �2��

4. ����)��7�������� (Hydrochloric acid, HCI) 0.1 ���!��� ���&7���7
�)��7�������� 9 �2��2����	��"#���
A� ������
=��2������;�= 1 �2��)

5. ����)��7���=��2; (boric acid, H3BO3) 4 ����!�KL��! ���&7���7�)��7
���=��2;�
�	��"#���
A� �������)'
A��)��7�����
=��2����	��8�� 100 �2��2�2��

6. �2��2�;����!��� (mixed indicator)  ���&7���7�)��7��'2���� 0.2 ��
�	�
�����H��! 95 ����!�KL��! ��
=��2������;�= 100 �2��2�2�� ��)�)��7��'2�2�=�  (methylene 
blue) 0.2 ��
� 	������H��! 95 ����!�KL��! ��
=��2������;�= 100 �2��2�2������
"��#����
�)��7��'2���� 2 �%�� 6���
=����)��7��'2��2�=�  1 �%�� �+7%�	���+���
�

7. ����)��7�K��&7�;��!=���� (sodium carbonate, Na2CO3) 0.1 ���!��� 
���&7���7�=�K��&7�;��!=����'&A��9�1 �2 260 � 270 �����K��K&7� ��$����� 30 ��'& 

A�����
�
��%���� 1.325 ��
� �)��7	��"#���
A����&��2���� 250 �2��2�2��

8. ��'2������K! �2��2�;����! (methyl orange indicator) ���&7���7�)��7    ��
'2������K! 0.1 ��
�	��"#���
A� ��)��
=��2������;�= 100 �2��2�2��

���������;����+��+��+������)��7������������<��
� �����)��7�K��&7�;��!=���� 40 �2��2�2�� ��	�+��
�* %+��� 250 

�2��2�2�� ��2��"#���
A� 20 �2��2�2�� ��2���'2������K! �2��2�;����! 2 � 3 �7� '#����8����' ���7
����)��7�������� 0.1 ���!��� ;#���9;����+��+��+������)��7����������7	
�� �� N1V1

= N2V2

�������!����2�&"+���������� = �"#���
� (��
�) +���K��&7�;��!=���� x 1000
             ����)��7�������� (�2��2�2��) x 52.994

�24&���
�. +
"�������7%�7 (digestion)
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1. 

A��
��7%�����7��)���

A����'&A�������8������� 	��8���"#���
���)��9 
0.5 � 1 ��
� (�
��7%��+������	
���2���� 10 � 15 �2��2�2��) 	�%	�����7%�7����&���)'#�     
�=��;!���7 =
�'@��"#���
���7�)��&7�

2. ��2������%���� 3 ��
�
3. ��2�����#��)G
��+��+�� 10 �2��2�2��
4. �#�8�	��;����������7
���;��A��7%�7����&� �������7%�7	����7%�7 ����

��)��=��77���)��%��~�;��=�+���
=�;��A���
=8������)��}��;��A���
=8���� (�K��&7�8H����
8K�! 15% ��$��
��
=8����)

5. 7%�7'&A��9�1 �2 375 �����K��K&7� ���� 90 � 120 ��'& (�����G�*2A�����	�
���7%�78����8������)��7	�) ���A�7%�7��	�����8������)��7�&P�������&�+&7���P�� �
"�'2"�8��	��
�7L�	�� �;�
�

6. �#�8���
A�
+. +
"���������
A�
1. ��2��"#���
A���2���� 50 �2��2�2�� ��	�+���2�;��)�!
2. �%�+�������2�;��)�!����&��+���
=
���;��A����
A�'&A�&+��� �
�* %=�������=��2� 

40 �2��2�2�� ��7	�����7+��'%�7��'&A�%������)=������;�=��%���%��7 %	����=��2���2�
�K��&7�8H����8K�!��	�+���2�;��)�!�7%��
�� | ����)'
A�����)��7�&�&�#�

3. 	�%�2��2�;����!��	����=��2� 2 � 3 �7�
4. '#������
A�����)'
A�8�%�&���
�������&7����� ���A����=��2����&A7���$��&

�+&7������@�'#������
A��%�8��&� 10 ��'& ����
"��#�+��� �
�* %�������;��A����
A�
;. +
"�������8����' (titration)
1. �#�8�8����'���7����)��7������������<��'&A'��=;����+��+��'&A��%��� 

����)'
A����=��2����&A7���$��&�"#���2��%��
2. =
�'@���2����+��������������<��'&A	
��*�A����;#���9�%�8�

���;#���9
����&� (����!�KL��!) = 1.4 (V1 � V2) N x 6.25

       W
��7'&A V1 ;��  ��2����+����������'&A	
�	����8����'�
=�
��7%��

V2 ;��  ��2����+����������'&A	
�	����8����'�
= blank
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N ;��  ;����+��+��+���������� (���!���)
W ;��  �"#���
��
��7%��

2. �HM!����H�T��$��T�RG�%����
2.1  �������!L��� (Strickland and Parsons, 1972)
����;�&
        1. �"#���
A���������������&7

���&7�8����7��%�7�"#���
A�6%��;��
��! =���� cation exchange resin K@A���$�
�����%
        2. ����)��7P���� (phenol solution)

���&7���7�)��7P���� 20 �. �
=��'42������H��! ���7�) 95 (��2����/
��2����) ����2����8�� 200 ��.
        3. ����)��7�K��&7�8����*�
�8K�! (Na2Fe(CN)5(NO).2H2O)
         �)��7�K��&7�8����*�
�8K�! 1 �. 	��"#���
A���������2��� ��
=��2����	��
;�= 200 ��.
        4. ����)��7�
�;�8��! (alkaline reagent)
         �)��7�K��&7�K2���' 100 �. ��)�K��&7�8H����8K�! 5 �. 	��"#���
A���������2
�����
=��2����	��;�= 500 ��.
        5. ����)��7�K��&7�8H��;��8��!
        6. ����)��7���K28�K!K2A� (oxidizing solution)
        6������)��7�
�;�8��! 100 ��. �
=����)��7�K��&7�8H��;��8��! 25 ��. 
�+�����7�
� ����)��7�&"�)���&7����A��������	
�	���%�);�
"���)��L=8��	�+��'@=����}�~�	��
��2'
        7. ����)��7����<���������&7�+��+��
        �)��7 (NH4)2SO4 0.2359 �. 	��"#���
A���������2��� ��
=��2������;�= 
1,000 ��. 8������)��7����<���������&7�+��+�� 50 ��.NH3-N/�. � �����)��7�� 10 ��. 
6���
=�"#���
A�	��8����2���� 100 ��. �)8������)��7����<���������&7�+��+�� 5 ��.NH3-N/
�.K@A��#�����)��7����<���&"8��������;����+��+��'&A�)�
=�%�� | �%�8�
        8. ����)��7����<���������&7�������
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        � �����)��7����<���������&7�+��+�� 5 ��. NH3-N/�. �� 0, 4, 8, 12, 16 
��) 20 ��. ��	� volumetric flask ��2��"#���
A���8����2���� 100 ��. ����)��7�&"�&;����+��
+��+���������&7 0, 0.2, 0.4, 0.6, 0.8 ��) 1.0 ��. NH3-N/�.
�24&���
        1. � ��"#��
��7%��'&A6%������������7��)������� GF/C 10 ��. 	�%	�����
'����~����&7�+��� 50 ��.
        2. ��2�����)��7P���= 0.4 ��. �+7%�	��6���
� ������2�����)��7�K��&7�8�
���*�
�8K�! 0.4 ��. �+7%�	��6���
�
        3. ��2�������K28�K!K2A� 1 ��. �+7%�	��6���
�'2"�8���7%�����7 1 K�. ����
"��#�8�
�
�;%����� �����������7�;��A�����;����P���2����! '&A;���7��;��A� 640 ��������
        4. blank ��)����)��7����<��'#��
%���&7��
=�"#��
��7%��
        5. �����;����+��+��+���������&7��� ��7����+&7����P����<������
;����
�*
�4!�)��%��;����+��+��+������)��7����<���������&7����
=;%����� ��������
�����#�;%����� ��������'&A�%��8������"#��
��7%��8����&7=�'&7=�
=�������P����<�� �L�)
'��=;����+��+��+���������&7���	��"#��
��7%��

2.3 m����" (Strickland and Parsons)  1972)
����;�&
       1. ����)��7�������&7�;��8��!�+��+�� (NH4Cl) �)��7�������&7�;��8��! 
125 �. 	��"#���
A� 500 ��.
       2. ����)��7�������&7�;��8��!�������
       �����������)��7�������&7�;��8��!�+��+�� 50 ��. ��
=��2�������7�"#���
A�
��;�= 2,000 ��.
       3. �;���&7�-;������! P}��2A�  (cadmium � copper fillings)
           - 	
����)�;���&7� 100 �. �������7�������� (HCL) 5% 300 ��.����
"�����
���7�"#���
A� (200-300 ��./;�
"�) ���"#�	���);%�;�����$���� � �%�������%� 5 �'�"#�'2"�	������
�����;���=���7����)��7 copper sulphate pentahydrate (CuSo4.5H2O) 2% ����������7
�'%��������&P��+������)��7������������8�
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           - ������;��
��!	����7	7���� (glass wool) ������2�����)��7 NH4Cl  �������
	����L�;��
��!
         - =����6� cadmium � copper ��	����L�;��
��! K@A��&;���7����)��9 30 K�. 
����;��
��! NH4CI ������� ��7�&�
������8����)��9 100 ��./8-12 ��'& G���
������8��
�����%� 100 ��./8 ��'& ����=
�;
=�
������8��'&A
%����}��}�����;��
��!	��
���� ��)G���
���
���8��
����%� 100 ��./8 ��'& �����%�6� cadmium-copper �&+�����L���%� 0.5 ��. ����=����
��%������2�8� ;���)���&A7��������6� cadmium-copper ���=��� �����������=�+��;��
��!
���7	7����
         - ������L=�
���;��
��!���7����)��7 NH4CI ������� ��7��2�����)��7 
NH4CI �������	����L�;��
��! 	���9&'&A���
7�%���)�2'421�*+��;��
��!����  	���#� cadmium-
copper �������7 HCI 5% �����;���=	��%����24&+������
        4. ����)��7K
�P��2��8��! (sulfanilamide ; NH2C6SO2NH2)
        ������&7��
%���&7��
=����2�;��)�!��8�8��'!	��"#�
        5. ����)��7 N-(1-naphthyl) ethylenediamine dihydrochloride
       ������&7��
%���&7��
=����2�;��)�!��8�8��'!8��"#�
        6. ����)��7����<��8����'�+��+��
        �)��7 KNO3  0.3609  �. ���7�"#���
A� ��
=��2������;�= 1,000 ��. �)8��
����)��7����<��8����'�+��+�� 50 ��.NO3-N/�.  ����� �����)��7�&"�� 10 ��. �������
���7�"#���
A���
=��2������;�= 100 ��.  �)8������)��7����<��8����'�+��+�� 5 ��.NO3-
N/�. �#�����)��7����<���&"8��������;����+��+��'&A�)�
=�%��| �%�8�
        7. ����)��7����<��8����'�������
        � �����)��7����<��8����'�+��+�� 5 ��.NO3-N/�. �� 0, 0.1, 0.2, 1.0, 2.0  
��)10 ��. ����������7�"#���
A���8����2���� 100 ��. �)8������)��7'&A�&;����+��+�� 0, 
0.005, 0.01, 0.05, 0.1  ��) 0.5 ��.NO3-N/�.
�24&���
        1. �#��"#��
��7%��'&A6%������������7��)��� GF/C  50 ��.  	�%��	�P����!
+��� 250 ��. ��2�����)��7 NH4CI �+��+�� 1 ��. 6��	����$����"���&7��
� �'��	�;��
��!
       2. �"#��
��7%��'&A6%��;��
��! 40 ��. ����''2"� ����
=�"#��
��7%��'&A����� 10 ��.
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       3. �#��"#��
��7%��'&A����
=;�
"���
� 10 ��. 	�%	���������'&A�&~����&7��}� ��2�
����)��7K
�P��2��8��!  0.2  ��.  '2"�8��	����2���2�2�27�  2-8  ��'&
       4. ��2�����)��7 N-(1-naphthyl) ethylenediamine dihydrochloride  0.2 ��. 
6��	���+���
������#�8��
����� �����������7�;��A�����;����P���2����! '&A;���7��;��A� 543 
�������� 1�7	� 2 K�.
       5. blank ��)����)��7����<���������'#��
%���&7��
=�"#��
��7%��
       6. ��;%�;����+��+��+��8����'	��"#��
��7%��  ��7��������P����<������
;����
�*
�4!�)��%��;����+��+��+������)��7����<��8����'�
=;%����� ��������  ��7�#�
;%�;����+��+��+��8�8��'!	��"#��
��7%��'&A6%��������� �
�������;����+��+��+��8����'	�
�"#��
��7%��'&A6%��;��
��! �L�)'��=;%�;����+��+��+��8����'	��"#��
��7%���
"�
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G�Tb��� &

T�RG�%�������
���"
��� 10 	��
���

� ��
�����

��9�1 �2
(����

�K��K&7�)

;�����$�
���-�%��

;�����$�
�%��

(�2��2��
�/
�2��)

���K2���'&A
�)��7�"#�
(�2��2��
�/
�2��)

;����;L�
(�%��	�*
�)

�������&7
���

(�2��2��
�/
�2��)

1 27.12 � 28.44 7.85 � 8.05 112 - 116 6.05 � 6.30 28 - 30 0.07 � 0.09
2 27.32 � 28.04 7.89 � 8.03 112 � 114 6.10 � 6.23 28 - 29 0.11 � 0.12
3 27.18 � 28.15 8.00 � 8.05 106 � 110 6.00 � 6.25 28 - 29 0.06 � 0.10
4 27.08 � 28.14 7.98 � 8.02 106 � 112 6.08 � 6.32 28 - 30 0.09 - 0.11
5 27.02 � 28.05 8.04 � 8.06 114 � 116 6.04 � 6.26 28 - 30 0.08 - 0.12
6 27.12 � 28.44 7.85 � 8.05 112 � 116 6.05 � 6.30 28 - 30 0.07 � 0.09
7 27.18 � 28.54 8.04 � 8.06 110 -114 6.04 � 6.56 28 - 30 0.09 � 0.12
8 27.42 � 28.54 8.05 � 8.07 108 � 112 6.05 � 6.47 28 - 30 0.06 � 0.10
9 27.13 � 28.64 8.03 � 8.05 102 � 110 6.03 � 6.25 28 - 30 0.06 � 0.08
10 27.10 � 28.40 8.01 � 8.05 110 � 116 6.01 � 6.45 28 - 30 0.10 � 0.12
11 27.12 � 28.44 7.85 � 8.05 112 � 116 6.05 � 6.30 28 - 30 0.07 � 0.09
12 27.11 � 28.40 7.89 � 8.03 106 � 112 6.09 �6.33 28 - 30 0.11 � 0.14
13 27.19 � 28.04 8.00 � 8.05 106 � 114 6.00 � 6.25 28 - 30 0.06 - 0.08
14 27.10 � 28.00 7.98 � 8.04 106 � 116 6.08 � 6.24 28 - 30 0.09 � 0.12
15 27.10 � 28.12 8.04 � 8.06 114 � 116 6.04 � 6.16 28 - 30 0.08 � 0.10
16 27.12 � 28.44 7.85 � 8.05 112 � 116 6.05 � 6.30 28 - 30 0.07 � 0.09
17 27.14 � 28.41 8.04 � 8.07 110 � 114 6.04 � 6.27 28 - 30 0.09 - 0.12
18 27.22 � 28.00 8.05 � 8.06 108 � 112 6.05 � 6.26 28 - 30 0.06 � 0.08
19 27.12 � 28.21 8.03 � 8.05 102 � 108 6.03 � 6.35 28 - 30 0.06 � 0.08
20 27.12 � 28.32 8.01 � 8.03 110 � 116 6.01 � 6.23 28 - 30 0.10 � 0.14
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G�Tb��� T

����H�T��$��	gH�H&��b����"
�����$��T���$��Q&�������"
���

�����1�;6���'&A ;.1 ����2�;��)�!;���������� (ANOVA) �"#���
���2A����+������)*�+��
          '&A8���
=�����'&A�&����'�'&A����(����7�
��������������������
          �������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.000
0.015
0.036
0.008
0.001
0.007
0.010
0.163
0.241
.

19
1
1
1
4
1
4
40
59

0.000
0.015
0.009
0.008
0.000
0.002
0.002
0.004

0.059
3.769
2.237
2.004
0.078
0.412
0.592

0.809
0.059
0.082
0.165
0.989
0.799
0.670
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�����1�;6���'&A ;.2 ����2�;��)�!;���������� (ANOVA) �"#���
����'��7+������)*�+��
          '&A8���
=�����'&A�&����'�'&A����(����7�
��������������������
          �������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

29.596
27.392
619.491
0.056
12.529
53.703
5.846
64.396
813.009

1
1
4
1
4
4
4
40
59

29.596
27.392
154.873
0.056
3.132
13.426
1.461
1.610

18.38
17.01
96.20
0.04
1.95
8.34
0.91

0.0001
0.0002
<.0001
0.852
0.122
<.0001
0.469
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�����1�;6���'&A ;.3 ����2�;��)�!;���������� (ANOVA) ����!�KL��!�"#���
�'&A�*2A�+@"�+��
   ����)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
��������������
    �������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F
Value

Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

27147.752
19458.364
527365.420
27.513
11788.650
50536.705
5065.887
65787.478
707177.769

1
1
4
1
4
4
4
40
59

27147.752
19458.364
131841.355
27.513
2947.163
12634.176
1266.472
1644.687

16.51
11.83
80.16
0.02
1.79
7.68
0.77

0.0002
0.0014
0.0001
0.898
0.150
0.0001
0 .551
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�����1�;6���'&A ;.4 ����2�;��)�!;���������� (ANOVA) �
���������2B��2=���#��*�)+��
         ����)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
��������������
          �������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.177
0.233
3.892
0.0002
0.066
0.561
0.040
0.391
5.360

1
1
4
1
4
4
4
40
59

0.177
0.233
0.973
0.0002
0.016
0.140
0.010
0.010

18.12
23.85
99.53
0.02
1.68
14.35
1.02

0.0001
0.0001
0.0001
0.876
0.175
0.0001
0.408
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�����1�;6���'&A ;. 5 ����2�;��)�!;���������� (ANOVA) �"#���
������'&A����2�+��
           ����)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
��������������
           �������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

34.747
163.152
222.277
26.401
73.728
240.070
41.907
188.240
990.522

1
1
4
1
4
4
4
40
59

34.747
163.152
55.569
26.401
18.432
60.017
10.477
4.706

7.384
34.669
11.808
5.610
3.917
12.753
2.226

0.010
0.0001
0.0001
0.023
0.009
0.0001
0.083
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�����1�;6���'&A ;.6 ����2�;��)�!;���������� (ANOVA) �
���������&A7��������$����"�
          +������)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
�����������
          ����������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.054
0.039
1.677
0.207
0.385
0.821
0.215
1.452
5.202

1
1
4
1
4
4
4
40
59

0.054
0.390
0.419
0.207
0.096
0.205
0.054
0.036

1.49
10.75
11.55
5.69
2.65
5.65
1.48

0.230
0.002
0.0001
0.023
0.047
0.001
0.226
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�����1�;6���'&A ;.7 ����2�;��)�!;���������� (ANOVA) ��)�2'421�*���	
�����&�+��
                                   ����)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
��������������
             �������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.172
0.857
3.497
0.782
1.615
1.821
0.833
4.543
14.120

1
1
4
1
4
4
4
40
59

0.172
0.857
0.874
0.782
0.404
0.455
0.208
0.114

1.51
7.54
7.70
6.88
3.55
4.01
1.83

0.226
0.009
0.0001
0.012
0.014
0.008
0.141
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�����1�;6���'&A ;.8 ����2�;��)�!;���������� (ANOVA) ����&�'&A�#�8�	
���)�7
�!8��+��
          ����)*�+��'&A8���
=�����'&A�&����'�'&A����(����7�
��������������
          �������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

1.841
168.907
1444.107
86.712
299.799
143.253
65.490
1052.065
3262.1756

1
1
4
1
4
4
4
40
59

1.841
168.907
361.027
86.712
74.950
35.813
16.373
26.302

0.07
6.42
13.73
3.30
2.85
1.36
0.62

0.793
0.015
0.077
0.0001
0.036
0.264
0.649
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�����1�;6���'&A ;.9 ����2�;��)�!;���������� (ANOVA) �
��������7+������)*�+��
         '&A8���
=�����'&A�&����'�'&A����(����7�
��������������������
         �������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.739
6.653
136.208
0.739
47.368
85.876
32.539
1006.460
498180.223

1
1
4
1
4
4
4
40
59

0.739
6.653
34.052
0.739
11.842
21.469
8.135
25.161

0.029
0.264
1.353
0.029
0.471
0.853
0.323

0.865
0.610
0.267
0.865
0.757
0.500
0.861
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�����1�;6���'&A ;.10 ����2�;��)�!;���������� (ANOVA) ��2��9����&�+������)*�
+����
�'����'&A8���
=�����'&A�&����'�'&A����(����7�
����������� 
����������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.162
0.754
9.230
1.171
4.681
2.324
2.949
0.543
12914.182

1
1
4
1
4
4
4
38
58

0.162
0.754
2.308
1.171
1.170
0.581
0.737
0.014

11.365
52.803
161.608
82.031
81.966
40.690
51.642

0.002
0.000
0.000
0.000
0.000
0.000
0.000
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�����1�;6���'&A ;.11 ����2�;��)�!;���������� (ANOVA) ��2��98+�
�+������)*�
+����
�'����'&A8���
=�����'&A�&����'�'&A����(����7�
����������� 
����������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

5.198
0.765
4.116
0.273
2.270
1.012
2.611
.444
709.692

1
1
4
1
4
4
4
39
59

5.198
0.765
1.029
0.273
0.567
0.253
0.653
0.011

456.880
67.254
90.442
24.023
49.872
22.227
57.381

0.000
0.000
0.000
0.000
0.000
0.000
0.000
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�����1�;6���'&A ;.12 ����2�;��)�!;���������� (ANOVA) ��2��9�G��+������)*�
+����
�'����'&A8���
=�����'&A�&����'�'&A����(����7�
����������� 
����������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

0.018
0.033
1.155
0.364
1.193
1.541
0.836
0.322
1111.150

1
1
4
1
4
4
4
38
58

0.018
0.033
0.289
0.364
0.298
0.385
0.209
0.008

20.64
3.936
34.068
42.953
35.183
45.439
24.659

0.159
0.055
0.000
0.000
0.000
0.000
0.000
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�����1�;6���'&A ;.13 ����2�;��)�!;���������� (ANOVA) ��2��9;���
�"�+������)*�
+����
�'����'&A8���
=�����'&A�&����'�'&A����(����7�
����������� 
����������������������� ��
��!�"#�

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F


�2��
�G��2=

�2�6�2�1
9>!
�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!

�2��
�G��2=*�)�
=����'�'&A

�2�6�2�1
9>!*�)�
=����'�'&A

�2��
�G��2=*
�2�6�2�1
9>!*�)�
=����'�'&A
Error
Total

13.216
2.621
45.128
4.783
14.034
4.521
2.986
343.706
345351.339

1
1
4
1
4
4
4
40
60

13.216
2.621
11.282
4.783
3.509
1.130
0.746
8.593

1.538
0.305
1.313
0.557
0.408
0.132
0.087

0.222
0.584
0.282
0.460
0.802
0.970
0.968



70

�����1�;6���'&A ;.14 ��;!��)��=+�������� ��;�=;����)� ��'&A�&����'�'&A����(����76�2�1
9>!�(���)����&�8H���8��������;��A��	����' �%�
��)�%��6��+���;��A��	���)�
����' �%�'&A�)�
=�%��| (��
� /100 ��
�)

� ��������%����)��=+�������
1 2 3 4 5 6 7 8 9 10

����(� (63 % ����&�) 56 42 28 14 0 56 42 29 15 0
�;��A��	����' �%��(� - 15 29 44 58 - - - - -
����&�8H���8��������;��A��	����' �%� - - - - - - 11 22 33 45
�%��6��+���;��A��	���)�
����' �%��(� - - - - - - - - - -
����&�8H���8��������%��6��+���;��A��	���)�
����' �%� - - - - - - - - - -
�
������(� 11 11 11 11 11 11 11 11 11 11
�#� 11 11 11 11 11 11 11 11 11 11
�"#��
���� 4 4 4 4 4 4 4 4 4 4
�2���2����1 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
��%4������2 4 4 4 4 4 4 4 4 4 4
=&��
'& 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
�����
� 3 3 3 3 3 3 3 3 3 3
����+������� 4.7 5.3 4.8 5.4 4.8 4.7 7.2 6.4 6.5 6.7
���=�(� 5.08 4.48 4.98 4.38 4.98 5.08 5.58 7.38 9.28 11.08
*�
�������3 (�;���&A/�����100 ��
�) 394.93 394.89 395.08 395.05 394.82 394.93 394.71 394.95 394.34 394.42

��2��9�7�A�	7'&A8��������;#����	������'����� ��'&A 1 = 5.2%, 2 = 4.99%, 3 = 5.18%, 4 = 4.95%, 5 = 5.18%, 6 = 5.2%, 7 = 5.4%, 8 = 6.06%, 9 = 6.76% ��) 10 = 7.43%
��;!��)��=�7�A�	7	��#���)���=������� Tacon (1990) K@A��&��;!��)��=	����;&7��
=�
�G��2='&A	
�	����'����
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�����1�;6���'&A ;.14 (�%�)
� ��������%����)��=+�������

11 12 13 14 15 16 17 18 19 20
����(� (63 % ����&�) 56 42 28 14 0 56 43 28 16 0
�;��A��	����' �%��(� - - - - - - - - - -
����&�8H���8��������;��A��	����' �%� - - - - - - - - - -
�%��6��+���;��A��	���)�
����' �%��(� - 15 31 46 61 - - - - -
����&�8H���8��������%��6��+���;��A��	���)�
����' �%� - - - - - - 11 24 35 49
�
������(� 11 11 11 11 11 11 11 11 11 11
�#� 11 11 11 11 11 11 11 11 11 11
�"#��
���� 4 4 4 4 4 4 4 4 4 4
�2���2����1 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
��%4������2 4 4 4 4 4 4 4 4 4 4
=&��
'& 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
�����
� 3 3 3 3 3 3 3 3 3 3
����+������� 4.7 5 4.3 4.5 4.28 4.7 7.4 7.7 7 7.5
���=�(� 5.08 3.78 2.48 1.28 0.5 5.08 4.38 5.08 5.78 6.28
*�
�������3 (�;���&A/�����100 ��
�) 394.93 394.96 395.06 394.69 392.59 394.93 395.12 394.59 394.83 394.95

1�2���2���� (��./��. �����) : Thaimin HCI 60 , Riboflavin 00, Pyridoxine HCI 40,Choline chloride 5,000, Niacin 400, Ca � Pantothenate 100, Ascorbic acid 500, Inositol 2,000, Biotin 6,
Folic acid 15, Vitamin B12 0.1, Menadione 50, Tocopherol acetate 100, Vitamin AD3 (500 IU of A+100 IU of D3/mg) 8.
2��%4������ (�./��.�����) : CaHPO4 8, NaH2PO4 2H2O 15, KH2PO4 10, KCI 5.
3*�
������� (�;����&A/��
������) ;#���9���;%�*�
����+������&� = 5.64, 8+�
� =9.44 �;����&A��);��!�=8H���' = 4.11 �;����&A (NRC, 1993)
��2��9�7�A�	7'&A8��������;#����	������'����� ��'&A 11 = 5.2%, 12 = 4.73%, 13 = 4.25%, 14 = 3.81%, 15 = 3.92%, 16 = 5.2, 17 = 4.95%, 18 = 5.215%, 19 = 5.47% ��) 20 = 5.66%
��;!��)��=�7�A�	7	��#���)���=������� Tacon (1990) K@A��&��;!��)��=	����;&7��
=�
�G��2='&A	
�	����'����   
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